HW1

Commuter
oO—=C O O - - ) %
H H On L2 messages should tf'é modelled in detail. < H
Also user task suggest that customer is not external pat.
: : e o > :
H - SeR _ Il .
: V %E/Iark exact

®

Specific ticket selected

Special ticket needed?

Repeat up to 3
Jtimes if the card
O | read fails

— Payment failed

Calculate price

Jeannann
QOeeennnns

Card is inserted again

&

Read card

board and
departure time

Muzikar Martin
9

(527

391)

Result: 9

The process models contactless payments on public transport in Brno. The commuter can either choose a specific ticket or just pay with the
card and the system uses a default ticket. The final fare price is calculated at the end of the day, some amount of money is blocked on the
commuters card so no frauds are made

The commuter can also mark what time should the ticket be charged as by inserting the card when leaving the vehicle, this will be taken into
account when calculating the final price at the end of the day.
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